



























2,3
35 48 53

goBoye Exam Result

Girls 1 I

30 38 46 TO 55

On average the boys performed slightly better

than the girls Their median score was 48 compared

to the girls media of 46

The girls results were more consistent than

the boys They had an IQR of 12 50 38

compared to the boys IQA of 18 53 35

Bill is 20 taller than Alan Colin

is 10 taller than Bill

How many percent taller
than Alan is Colin

Let Alan be x c tall

Bill is x x 1.20

Colin is xx 1 2 x 1 I

Comparing Distribution

Multipliers



SI X 1.32

Colin is 32 taller than Alan

B is 25 heavier than A

C is 10 lighter than B

How many percent heavier
than A is C

Let A ex

B X X 1 25

C Xx 1.25 X O 9

C X X 1 125

C is 121 heavier than A

Exe nice

Y is 40 heavier than X

Z is 15 heave than Y

By what percentage is Z heavier than X

Let ty I S x 1 4



2 X x t 4 x 1 15

2 X X 1.61

2 is 61 heavier than X

180 cars

Green
yes

How many of each
colour

600

Yello 58 180 30160 1000

Red Blue
Blue 558 180 50

Red if x 180 80

Gee If 180 20

Labour 32,500

Tory 18,700

Lib 13,200
64400

Labour angle 32500
64400

360 1820

Tory any 1822 360 1050

Pie Chart



Lit Egg 360 740
361

Could road 182 down to 181


